Arithmetic ~ Tuesday

1. 96 + 6 = 10. 56.9 + 100 =

2. 6/7-2/7 = 11.64.9-391=

3. 83x1-= 12.1/10 + % =

4, = 7839 + 546 13.483 x 17 =

5. 303 x 3= 14,3036 - 11 =

6. 7.5-0.008 = 15.5/6 x % =

7. 4231-778 = 16.8/12 - 2 =

8. 312,800 - 34,729 = 17.6.36 x 3 =

9. 3200 + 800 = 18. 30% of 902 =
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Arithmetic ~ Thursday

1. 302-10= 10.80 x 8 =

2. 982 +50 = 11. 7605 + 6 =

3. §+%= 12.8+9+ 3=

4, = 1693 - 994 13.92 x 25 =

5. 56 +7 = 14, 3105 + 9 =

6. 3.81+0.2= 15. 3% + 2% =

7. 4300 + 430 = 16.9/10 + 3 =

8. 2% x b= 17.39.34 x 100 =

9. 92-31= 18. 50% of 6532 =
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Arithmetic ~ Friday

1. 21x 7= 10. 3.02 x 100 =
2. $-%-= 11.84.1-6.77 =
3. 6893 +562 = 12. % - % =

4. 4 x3x7-= 13.2101 x 6 =
. 88 x6 = 14. 8232 - 12 =
6. 6.5 +0.019 = 15. % x % =

7. 392 + 6038 = 16. %4 x5 =

8. 700,000 - 3459 = 17. 488 x 4 =

9. 280+70-= 18. 15% of 418 =
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